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QUESTION 1

In a sale, all prices are reduced by 40%. 

Calculate the original price of an article whose sale price is $42. 

A. $72 

B. $58.80 

C. $105 

D. $70 

Correct Answer: D 

 

QUESTION 2

A football player scored the following number of field goals in eleven games: 

1, 0, 0, 2, 2, 0, 1, 2, 3, 1, 2 

What is the modal score? 

A. 0 

B. 3 

C. 1 

D. 2 

Correct Answer: D 

 

QUESTION 3
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The figure shows a graph of the speed of a test vehicle, plotted every second for 6 seconds during an experiment. 

Which of the following statements best describes the motion of the vehicle during this time? 

A. The vehicle starts by moving slowly and continues to pick up speed during the entire time. 

B. The vehicle slows down at first, then picks up speed during the last 2 seconds of the time measured. 

C. The vehicle is moving rapidly at the start of measurement and slows down to a stop at the end. 

D. The vehicle moves at the same speed the entire time. 

Correct Answer: A 

 

QUESTION 4
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Which of these expressions is equal to it? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 5

A side of a square is 2.5 cm long. What is the area of square? 

A. 39 

B. 6.25 

C. 5 

D. 10 

Correct Answer: B 
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